Foundations of Mathematics 11
Section 7.2 — Practice Questions
1. Determine the length of AB in each
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2. Determine the value of the marked unknown angle in each.
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3. Determining the length of all three sides and the measures of all tree angles is called solving
a triangle . Solve each triangle.
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4, A chandelier is suspended from a horizontal bean by two support chains. What angle does
the 4.8 m long chain make with the beam?

5, The chemical formula for water, H;0, tells you that one molecule of water is made up of two
atoms of hydrogen and one atom of oxygen bonded together. The nuclei of the atoms are
separated by the distance shown, in angstroms, An angstrom is a unit of length used in
chemistry. Determine the distance in angstrom between the two hydrogen atoms.
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